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o <t 7 arfereRT T Uedeh SeaTer B faaRl i W
higeh W IoNr g & iR fomdt uwen iy fa e1e -
STETT SATAT W STEIT- 3T TN | difga sreff arfiren

Which disease occupies highest number of beds
in all the hospitals? -

Tt sremarett # faa o @ difga ol ittt

1.
HT Tt YT TS T AR & MR W W9T 1 ¥ 5 T HEET watfire §?
oA S difsTa— . V4 y (a) Heart Disease/g&d T
Disease N4 “Hospital/aT@dara (b) VRIM[ 1111/
T Hospital | Hospital | Hospital | Hospital | Total (C) Kldney Dlsease/'ﬂ?f ﬂ"T
ST ATeT | 3T ATeT | 3T dTeT | 3T ATt
A B C D (d) leer Dlsease/ﬂ?ﬁr ﬁﬂ
100 | G0 | aw | 6o |/~
Viral 30 15 35 10 [\L90 d( 'L«°1’\ 'U’
disease %%
EIEGEIE
Heart 35 10 30 10 85
disease ——=
EERR
Kidney 15 5 15 5 40
disease
NCURL
Liver 10 S 5 15 35
disease |~ —m—mm e
Tehe T




== <t g aferent § g steraTer W el @ W@ What is the percentage of Liver disease patient

higeh o m;@ e 3‘?‘ wﬁ_‘?ﬁﬁw EWE - admitted in all the hospitals to that of the total

=5 ot Perori Bk &«  Datients admitted?
mﬁm_ﬁ%l TR auft srEgarett W Tghd W A difgd, Her Wl

Disease Hospital/3T&0dTeT 'a'ﬁ"r&ﬁ‘ chl 'ﬁﬁ:ﬂ ‘gﬁ-[g]ﬂ‘ %?
T Hospital | Hospital | Hospital | Hospital | Total o - 0
STEEATE | STEAATA | STEATS | 3TEqATA (a) 15% (b) 16%
A B C D (c) 13% d) 14%
(100) (50) (100) (50) 7 2\
Viral 30 15 35 10 | %) @ g’(
disease
fersmoy \W
SlEGRN ~
Heart 35 10 30 10 85
disease
Ead T -
Kidney 15 5 15 5 40
disease
NEUR S~
Liver 10 5 S5 IS 35
disease ’k/
TGhel AT A~




H=r & S arfereRt B U STEuATeT W faaRt st wiE Wilat is the ratio of patfeilt admitted for viral
higeh | T 8 § 3R fereft wer fafd=ra faa ste-

STETT STEIATEl o 3TETT- 3o A & difga welf qitrt Wﬁwﬁﬁ%ﬁ qq?l’fﬁﬁra‘raﬁ-{nafm
hT HEAT T TS §)| AlfeTehT o MR W WoT 1 ¥ 5

ahT I difSa—
Disease Hospital/3T80dTeT
T Hospital | Hospital | Hospital | Hospital | Total
ST ATt | 3T ATeT | 3T ATeT | 3T ATt
A B C D
(100) (50) (100) (50) |
Viral 30 15 35 10 90
disease
SIE GRS
Heart 35 10 30 10 85
disease
g2 T
Kidne)g/ 15 5 15 5 \40
disease
NEURL
Liver 10 5 >3 15 35
disease
Tehe AT

disease to that of kidney disease?

ﬁﬁ%ﬂﬂ?ﬁﬁﬁm‘rwmwﬁ
@ (b) 7:4
(c) 8:3 (d) 10 : 4




= T 7 Aot ® were swUATer § ARt @ e |
wIgE | Uil ¢ § o fenelt uwk fafyea faw sremr- What is the ratio of total patients admitted to
3T TEATAT W 3TeRT-31eT 1t & difga wef afiret Hospital A to that of Hospital B?

94?"'@?4 ilﬁldl)w

Y T guieh TE ¥ ATeTeRT & AR W YT 1 W5 ITATA A 3T 1At B °

P A0 3TTUT AT 7
Disease Hospital/3T&dTeT N
T Hospital | Hospital | Hospital | Hospital | Total (a) 19 ¢ \/ (b) Ly i
FTEAATE | JTEAATEA | ITEAATE | STEAATA ‘m iy 713
A B C D ‘
(100) (30) 100) | (30 U A : &
Xiisfz:se 30 15 35 10 90 /4;/
fersmoy LA S
o G - A
Heart 35 10 30 10 85 "
disease \ %
&g U
Kidney 15 5 15 5 40
disease
REURG
Liver ] 10 5 5 15 39

disease \/ -_
Tehel T




What is the focus of concern in understanding \/ .
level teaching? @

ama}awﬁmﬁngavﬁw%?

(a Promotion of scope for seeking of
relatlonshlp among facts and ideas/dedl_3TX

g Gee ol a@d o Rl daed-

(b) Encouraging recall and_recognition of facts > M
and information/dedl 3T a1 & TWRUT AR

A T Adfed HEA
(¢) Raising of problems and finding out solutions
to these problems so presented —

UESl H Td T R 39 WhR N
U3 o GHEIEE! Y @isT HiAl

(d) Developing a sense of happiness and a sense
of connectedness in learning/3feMH H 3=

3N ITY [ @ I AT T faepra Ha




—

Which of the following emotional
characteristics are of crucial significance in 6
adolescent learning?

mﬁTarﬁnmﬁﬁmﬁﬁq—ﬁwﬁm
fargreaTd fuTiereR Waca aht 82

(a) Feeling of group belongingness
g o dardcd sl 9raHn
Wero-worship and sentiments
ATIeh-gST 3R dgATg
(¢) Expanding emotional ties with those in the

neighborhood
Teifadl & 91 9Ta-dTcHs Hael T far

(d) Dependence processes and making friends

m‘ﬁ'{?ﬂ SAEAT 3 i ST




During teaching when a teacher uses process |

questions which of the following type questions

will have dominance? @
oraruT o ST ST ohis 3TeATUSh UishaT U9 Rl %
TERT ShRIAr § ar fafaiea § | -8 e pr g f
ok YT ohl U< a2 3
(A) Direct questions/ScI&] H¥4

(B) Higher order questions/3=ddl ¢hH & I

(C) Convergent questions/3THHE 939

(D) Indirect based questions/3Id&] H34

(E) Concept based questions/HhodAT 3THTMT 994

Choose the correct answer from the options
given below

=ﬁ€r o = fasheal 7 9 9 SO I -

(a) (A), (B) and C only/shad (A), (B) 3T (O)
(b) (B), (C) and (D) only/shdad (B), (C) 37X (D)
(c) (O), (D) and E only/shaa (C), (D) 37X (E)
(d) (B), (D) and (E) only/shda (B), (D) 31X (




Given below are two statements :
r=r =r ss2rx fag 1o 2 -
Statement/<sqRa1+H (1) :

Tutorials group discussions and qquestion-answer
sessions are dialogic and part of direct teaching

methods/3aREgoT, Has 9Ofia=l ST ggsa-S9as 9=
Ogararaass = aﬁ?mﬁmfﬁ%a——,m%i
Statement/<Haa+a (11) -

Project work, I.aboratory work, simulation and
role playing are action based and part of indirect

teaching methods/afX=rsTar =h1=f, S=ETITAT  =hia,

In the light of the above statements, choose the
maost appropriate answer from the options
given below :

Eqﬁ?ﬁa;aﬁ%amﬁﬁﬂ%rﬁgﬁ‘%wcﬁ‘ﬁ

=) SaIg<h ST =T -
) Both Statements I and Statements II are

correct/sh=I1 I 371X II =11 987 21

(b)) Both Statement and Statement 11 are
incorrect/sh=Id 1 33ﬁ( II </ 9&r =987 21

(c) Statement 1 1s correct but Statement 1II 1s
incorrect/sh=gI I 9&I &, b k=1 11 HEl aa1 2 I

(d) Statement I 1s 1ncorrect but Statement II 1s

correct/ahaa= 1 Ha&T =81 @ ohg sh== 11 |&T 21




Which of the following method is used in EO‘ )
empirical research?

sfsaaaa yie o faafafad o 9 shi-dt fafr
ShT YT BT §7?

(a) Inductive method/3 AT fafer
(b) Deductive method/{-THATH fafer
(c) Initiative method/3id: S3TcHeh fafer
(d) Scientific method/asmfer fafer




When the independent variable is explored

rather than manipulating, to observe the effect
on dependent variable, the method of research@

is called.

SIS 3T =¥ U¥ guTd 9fard ahd gd fAafsra W

=T H SIS 9IS i oh oS SH uIT-ITGI'I?IT%T-ﬁ‘
virer ST aht =T, 3@ fafer aht shet AT

)%cto method/ghléﬂrl( fater \W
(b) Experimental method/sSTaifites fafer

(¢) Case study method/ehT 3Tea= fafy
(d) Descriptive survey method

fauTTcass Tdequr fafer \j\\s\'\f‘;‘d

Gen ) T




from the following

ﬁw%rﬁgaﬁﬁmﬁwuﬁwmaﬁ

UgelTd ahitaIug :
(A) Quota sampling/3T-dTidsh FfEra /
(B) Stratified sampling/&{hd Afd=a—

(C) Dimensional sampllng/ailmﬁ:’[ 9@'&?
(D) Cluster sampling/¥dHe SIRERE

(E) Systematic sampling/sTafterd EFFCEI?FI

Choose the correct answer from the options
given below:

e o2 T fasheat O W S 9=
(a) (A), (B) and (C) only/shda (A), (B) 37X (C)
(b) (B), (C) and (D) only/ shadt (A), (C) 3R (D)
\(9/23), (D) and (E) only/ad (B), (D) 3R (E)
(d) (C), (D), and (E) only/shda (C), (D) 3R (E)

Identify the probabllity sampling procedures@




The entry of new media l:as made online
learning : \V
U Hifsar & AWHA g fnm

AT IAT feaT 82 S
(a) Secondary source based/fsd&eh &iq 3menia

(b) Dependent on personal sources /

fersit =i o e .
(¢) Institution-centric/SET-ehf=sd JM J/
Q0 \,)/

(d) Independent/&da V%




Removal of commmunication barriers iIin a
classroom will result in

SHAAT H HUSTUT ATl ohl ST ohl QiU gi-
\y() Clear enunciation of specific i1nstructional
behaviours

faf?¥Ty sraevnars =asRl &1 Wy fasgur|
(B), An enviornment of purposeful student

/ interaction

faenferan &% s 9esa 31=a:fshar o1 aaaoT|
(C) Promotion of personality cult

=Ifchca dTSl 9 ohT daeiA|

(D) The irrelevance of illustrative examples

et SarsToT 1 sturHEieRar
Choose the correct answer from the options
given below:

e fo=r =& faeseat °§ 9 T 39T g
\(,e(((A) and (B) only/shdal (A) 3T (B)
(b) (B) and (C) only/shaat (B) 37X (C)
(¢) (C) and (D) only/shadl (C) 3 (D)
(d) (A) and (D) only/shaa (A) 3T (D)

@)




communication development : (W

TYUT TR o =0T A WS ehil hl UgeTT il
(A) Acta Diurna/ITal TS =>
(B) Cave paintings/TT®I fo=a =2
(C) Wooden blocks for prlntlng
Ul o g s scliad
(D) Development of languages/¥TST <kl faehrd
(E) Metal printing/®ITd 01 """
Choose the correct answer from the options
given below :

ﬁ%ﬁqm%ﬂﬁﬁnﬁwaﬁ'&

(@) (A), (B), (D), (O), (E)
(b) (B), (D), (O), (A), (E)
(©) (O). (D), (E), (A). (B)
(d) (D), (E). (A), (B), (O)

Identify the correct sequence of phases m~> 5 oV




Match L.ist I with L.istc 11

T=—1 ==t Tt 11 9 gataaa skiftstg, -
List/X=it— I List/XX=ir—I11
(Communication) (T'ype of communica-
method/3IAFOHUOT Tarfer tion)
— TEAHUAT =hT TGh1T
(A( One-to-one 1. [Network,/A=d9<h
@ ST W=k K == / (t’ransactional/
HAFaLIHh)
(B) | One-to-many 2. |[Intra-personal
wsh =71L =hE 5 [ |edaar-aatees

(OC)  Many-to-many = . |Inter-personal
H= 371X =hs =h == sTaL-a=f<k=h
(D) | One-to-none 4. Mass

Tsh T s 5 == Communication

| ' ~ 1all rimn
T Reke T [ e
be Eact

Choose the correct answer from the options
given below:

= o= 1= fassea 3 9 9t su% giag -
A B - D

(a) 1 > 3 4

(b) - - 3 %1 1

(<) 3 a 1 >

(d) 4 1 > %




What is the actual profit when the profit on
selling price is 25%?

At foIeha Tod W AT 25% & o7 aTeferdh o

&I B2 J
@Eﬁ (b) 30.33% @

(c) 25% (d) 20%

\,\33"' Qf‘&' ‘ ‘ ’))Z'*\

 $ P AR
/f,;-'/ = B

\oo ~




What will be the remainder when 4° is divided

by 15?
4!ﬁ 15 9 faarfia A U J9heT SR=IT g2
(aj 4 ) (b) 5
(c) 8 (d) 11 @
*M*’“‘*\\p B vV
;TR e
~ / /K\’\ ?’\F&




What is the missing number?

freifera ® v amores g (2) & &= W i

Ht H@eEAr 3mt?

4,-8 16, (?). 64. 128 @
(a) -24 @D Y
(c) 24 (d) 30

LA L ~+ —

P




Given below are two statements :

r=r < e fag 7o § °

Statement/eherT (I) : —/ 2\ \0‘
Sometimes, Ratio has units

FHt-hefl 3TqaTd H SHISAT BI gV
Statement/ahaa (11) :

When two ratio are equal, a proportion 1s formed
SE] a% AFATd TUTL &, ol ush GHITUTA T
arar g |

In the light of the above statements, choose the
correct answer from the options given below :

Iad<h heAl oh 3TAllah W AAifeha faskear #
o 9Er 39T oI+

(a) Both Statement I and Statements Il are true
shera 1 37X 11 <141 987 & |
(b) Both Statement I and Statements 11 are false

Hera I 391 II <41 ITad 2|

(c) Statement 1 1s correct but Statement II 1s

V{d/false/ma:r I 9= @ fohg = 11 TTera @

) Statement I 1s 1ncorrect but Statement 1II 1s
true/&HAT 1 3749 @ fohg = 11 E2T 2|




In terms of the relationghip indicated below,
which word will correctly pair to replace the

gﬁ%stions mark?
fau 7@ deir st I W gy ek g &

TAT TT i T 9168 T | et I A7
Worse : Bad :: Doting : ...............

Sl CUIERC CUIRERR: 115 ..
(a) Reverence/ggl ~  (b) Fond/3le

(c) Hate/gU (d) Dristi

&)




Given below is a proposition : @
ot U gfaafa & 7€ § -

"The weather 1s very cold today'.

‘3T WY 9gd 387 8 1

Which one of the following according to Nyaya,
is the correct option?

=T oh 3TIER $HahkT faawur @ 3q fH=afarada
o ¥ hIA-A1 Tl faehea g7

(A) Samanya lakshana/dm™H= &&OT — ~

(B) Yogaja/zﬁ"'ﬁ — -> \/
(C) Gyanalakshana/3Td <&0T \/

(D) Sannikarsha/gfsias ——

Choose the most appropriate answer from the
options given below :

S o= T faeheat ¥ W& 3T A -

(a) (A) only/shad (A), (b) (B) only/shad (B)
(c) (C) only/&haa ( (d) (D) only/shadl (D)




Arrange in sequence the following theories of@
causality in Aristotle's philosophy :

INE] oh quiA H frfaRaa srumar fagiat st
ATTER T

(A) Material cause/¥ifteh HRY /
(B) Efficient cause/H&H h[LUT
(C) Formal cause/3TehI ohliy
(D) Final cause/3ifd™ R
Choose the correct answer from the options
given below :

For fordr T ferercat @ WY 3 g
V@) (), (©).(B),(D)  (b) (A), (D), (B), (C)
© (C),(B),(A), (D) (d) (A),(B), (C), (D)




Extra browser window of commercials that

open automatically on browsing web pages is w
called :

/<
ol 2 it s e, S dwarsf ()
& WY @ GeAdl §, T HEeldl 82 o
(a) Spam@'q . Y~ (b) Virus/ar&d @ d
EE) Ph_lslzmgmﬂ ¥ . @Qp uprTCT-BTD

=




Given below are two statements : \V |
=t =r =K oo 319 2 2,

Statements/&qR2aaA4 (1) :
World Wide Web 1s not an example of client- X,
server technology/dce ECIEE] as FATSZ-HAX

TSIt sh ISTS8L0T A&T @ |

Statements/<qh21A (11) -

FTP 1s a service available on the internet \/

TH.ITG. S239< 9L STl Ush Oar 2 |

In the light of the above statements, choose the

correct answer from the options given below :

o TEr ST =4

(a) Both Statement I and Statement 11 are true
e 1 3T 11 <A1 9&1 8 |

(b) Both Statement I and Statement 11 are false
e I 1L I <41 11T <41 3Tad 8 |

(c) Statement 1 1s correct but Statement 11 1s false
e I 9 @ fehd =her II iTaad 2 |

(d) Statement 1 1s 1ncorrect but Statement 1lI/1s
true/sHaa 1 379 @ fohd = 1T T 2|

-




=

Which of the foll{)W1ng statements is/are true?

fraferRaa O @ Sr=a-ar,/9 98 2272

(A) Fiber optic cables are wooden fibers to
provide high quahty transm1551on
hisdX 311@?:5 CJI')M_Q"IOI)SI Oh hilgel) \TI\I ST
TUTEAT bl S9UT Hu- o g & L

(B) ereless communication provides anytime,
nywhere, connection to both computers and

elephones/cllq{c'lH chmurlchmd H X
SR ST B et off o 311 foher ot <o
UL ShHdoFT J&l hidl @ |

(C) Mobile phones are capable of providing voice
communication and also digital messaging
service/AIAEal i Slad

fefoea AT aoffa 9= = gfawr S99 9

o 919 2|
Choose the correct answer from the options
given below :

e fe=r 7= faseeat Ot s9T a3 -

(a) (A) and (C) only/shadt (A) 3T (C)
(B) an (C) only/shadl (B) 37X _(O)

(¢c) (A) and (B) only/shdal (A) 31X (B)

(d) (C) only/shaar (CO)




\“M/‘
Consider the followin technolo )_(” @
fateaiaa grentitent /

(a) Mlcmprocessormm \0\‘).

(b) Transistor/ZifSEIV" V\b\,\
(c) Vaccum Tube/frafd ECCH v
(d) Artificial Intelligence/h=H gluai-ldl

Arrange the above technologies of different
computer generations in the order they have
been used, starting from the technology that

was used in first generation.
1%51? difeat ®H g T et TS

u"m“rﬁlaﬁ ﬁ:re:naﬁ =t Ugelt 9 ¥ IE A g

THA H S|

Choose the correct answer from the options
iven below : _ .

foror o7 ferapenit B T T T —

(a) (©), (A), (B), (D) () (O, (B) (A) (D) v
(¢) (B), (O),(A), (D)  (d) (O),(B), (D), (A)




The ‘oh'ly\ UN ffehty related to environmental
issue which has been ratified by all 197 UN
member state is @

UAieRUT HE W Heifa qwmr wgeh g
m@mﬁ:m%mmw%wlw
mr@‘g’mmﬁmw%‘?

(a) Montreal Protocolmﬁaﬂ SIEACAG /

(b) Paris Agreement/"ﬁ“ﬁ LRI
(¢) Kyoto Protocol/a?ﬂ'a "Sﬁ’cﬁ'm"lﬂ

(d) Basel Conventlon/d{-ld cbrdi’ &




At present, which of the following is a leading

country

generation?

o o el mnia faea Sded &

in wind energy based electricity

'\

HIHA

T frefe

(a) India/9Td
(c) France/STd

Raa W |/ shi= |1 27uft 39T 772
(b) China/dH @
(d) Denmark/e 44T
Q (‘iw\/cl"\ib—" \"\‘V\g
/




'Sdlar Water Still is a de\vilce used for which of
the followin

frfeiaa § o feraes forar feram iTar €2
) Produce potable water by using solar energy ,
A HR FHoll o ITAN FR UF FA I G HL J/‘M
¥ form | — ' WZ—

(b) Pump water by using solar energy/lCﬁT 3l
3TN g S & 99 i & U
(¢) Generate electricity by using solar energy

IR ol & ITANT G o Seae i & feru|

(d) Produce heat using solar energy

G Soll o ITANT ER FHT 34~ hid & for




Identify the primary air pollutant among the
following :

frfeiiaga o & yrofire o youd @ TEE E o)
(a) Ozone/3S
(b) Black carbon aerosols/sidh e @ﬁ@y

(¢) Sulphate aerosols/Tethe TIUHH
(d) Peroxy Acetyl Nitrate (PAN)
T THieRd A (WU TA.)




Paravidya, according to the vedic tradition
implies
Sfeeh urrmr o srTER{unfaEn st et § — 7
(a) Knowledge based on human experience
AET 3799 W AR I
\/Qlﬁ Knowledge that 1s beyond human experience
g 399 ¥ R I
(¢) Knowledge acquired from teachers
gl & A I=
(d) Knowledge acquired from texts

Tl o SIG]




The

scheme 'RUSA' by MHRD of Indian

covernment supports the following components:
WITLA HIGARTT HTAS EHEarsra fasht¥a Jsirea=r

*

=ET’ (RUSA) IT4AT, Taafeaiima a3 O fes=ax

aﬁ‘%@mmaﬂ?ﬁ%‘?

A)

(B)

)

(D)

(E)

Upgrading autonomous caolleges to the status
of a Unlver51ty/la1‘;—‘lﬁ=r

HT =Tt SI=19 sh<d b g

Providing maintenance grants to state
Universities/Isx _ fazafaora=t sht sag3&aon
AT =19 shid b g

Setting up of new professional colleges 1n un-
served and underserved areas of the country

29T b SHAYOfadad AL SAogdfaag =33 ° 94g
=T ETfash Shiclsli ahl TATTAT shid b fag

Providing infrastructure grants to colleges and

universities to scale up_capacity
_&aar ST o foag

SFAFHEITTAT IATITAT ST Shid =h fag

More scholarship programmes to supplement

the cost of education/T2r=ar KT AT

HTa 6 Tog =1 =Egar e a9« s o

Choose the correct amnswer from the options

iven below: Lo
e
= 3Ty fashcarl 3 O 9Er S sgi=a=r :

a)
(b)
)
d)

A)., (B), (D) and (E) only
(A). (B), (D) AT (B)

(A, (B), (C) and (E) only

(A). (B), (O) T (B)

B), (C)., (D) and (E) only

(B), (O)., (D) 1T (B)

A), (CO), (D) and (E) only
(A). (O)., (D) AT (E)

/'5']/‘

W




Which of the following ICT initiatives of
MHRD deal with E-governance for
institutions/universities?

UTHa GOTe faed Te™ &t faafefiga o 9
HIA-U A, uger deenst/favafaemerst

o ToT 3-Tra| & Hefia §72

(a) SAMARTH/9qe’/

(b) VIDWAN/Tag’
(¢) IRINS/ 313,338, 14.0g.” — !
(d) SWAYAM/@aw’ 3




A 'De-novo mstltutlon is characterized by
e e el oAt ™ ()
(a) ICT enabled eda ogy

SIERE A i \%wmma

\/b) focus on teaching and research in unique and
emerging areas of knowle

W%Wﬁi&'ﬂlﬁ?\%ﬁwaﬁ'{ﬁﬁa
T & higd ST

(c) focus on teaching and research on foreign
languages and their literature

foeft wwed 3R 3 Wigew & fYers 3R
MY W & Higd HLT
(d) Sophisticated Basic structure

ATk el S|




